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1. Find the following for the function f(x) = 4x? + 2x - 2. [/
(a) (0) (b) (1) () f(-1) (d) f(=x)
(e) —f(x) (M fix+1) (9) f(3x) (h) f(x + h)

(a) f(0) = (Simplify your answer.)

(b) f(1) =| | (Simplify your answer.)

(c)f(-1)= _ ] (Simplify your answer.)
@@f(-x= | (Simplify your answer.)
(e) ~f(x)= ] J (Simplify your answer.)

Ofx+1)=] | (Simplify your answer.)
(g) f(3x) = : (Simplify your answer.)

(h) f(x +h) = | ' (Simplify your answer.)

Answers -2
4
0

4 - 2x-2
-4 -2x+2
4x2+10x+4
36x% +6x - 2

4x% + 8hx+4h% +2x+2h -2
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2. Find the domain of the function.

f(x) = 4/5x - 25

The domain is | - (Type your answer in interval notation.)

Answer: [5,00)
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3. For the given functions f and g, complete parts (a)-(h). For parts (a)-(d), also find the domain.

fx)=3x +7; g(x) = 7x =3 (Fri)e) =

) -+ 3K) =

(?wx) £(74-3) -
BXA] +TK-8 =

What is the domain of f+ g? Select the correct chcm:.e below andrztnqussary fill inthe answer box to complete your | '

choice. ( /0)(1’ ?’ v ~_[/ 4 \('—— .',x.f’_: (\/J)

(a) Find (f+ g)(x).

(F+g)(x) = (Simplify your answer.) \ Jt Vg, .,/

A. The domain is {x } -
(Use integers or fractions for any numbers in the expresmn Use a comma to separate
answers as needed.) ( A — }()(
() B. The domain is {x| X is any real number}. A !,x ] /-,( P ) -
- o f ] .
(b) Find (f~ g)(x). (35—t 7) - (/5( 3) ~ AI Gy

/ -~ e ' = ) .
f=g)(x)= (Simplify your answer.) 3 Xt 7 / W, f—/)C? g 4 )
= e (71 r/ / 'S I~ \ O ~
What is the domain of f~ g? Select the correct choice below ﬂﬂd—lf neeessary, fill in the answer box to-complete-your

choice. (?4 - )(’(} —

(7 A. The domain is {x] }. r‘}/;’{ FECL)*
(Use integers or fractions for any numbers in the expression. Use a comma to separate
answers as needed.) (IA / /) /"},,t 5)
() B. The domain is {x| x is any real number}. ) " ‘_ > ¢ =2 (e
Zl/L ~c;)< ~+ 4T K ‘ZJ/ (-11'1-7(‘,4 :
Find (fe . -
(c) Find (f+ g)(x) \2()( ..1:9/0/( Z( 5 (70(}/}
(feg)(x)= (Simplify your answer:)-

e e

What is the domain of f- g? Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

A. The domain is {x| }. J )‘(/

(Use integers or fractions for any numbers in the expressran Use a comma to separate

answers as needed.) zZ

B. The domainis {x| x is any real number}. = 7)< r_} + g W7
e /‘/
(d) Find [E] ). 5’)(( 7 «\ u /
=y

f ;
(E] x) = (Simplify your a&s\wer.) —

R C Xff 7

; >
What is the domain of —7? Select the correct choice below and, if necessary, fill in the answer box to complete your ch0|ce
— L0 ¥ 2
(P 5.46)= 10Xt §
A. The domain is {x

(Use integers or fractions for any numbers in the expression. Use a comma to separate

answers as needed.) (_ fﬂ (3) / Of}/ 7— y

B. The domain is {x| x is any real number}.

(e) Find (f+ g)(3). =

9/23/2019, 10:09 AM
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(f+g)3)= (Type an integer or a simplified fraction.) (.f / /})(/ z - }‘)(/’/J
(f) Find (f- g)(4). (/*//(é// 7/9/ -/
(f-g)4)= (Type an integer or a simplified fraction. (’/ y [‘jf/ _,/G /’/,

() Find (f+g)(2). -9 )/y/ z - Vf/

(fe9)(2)= (Type an integer or a simplified- fractton

(r /(x') 2 | K2 |
)(2) Z/(()(fd/q/‘{) ¢/
f r( (d _2;(3)(0/(/"/'?) e/
[EJH): (Type an integer or a si plifi 'a,fraciion_ I ((/) e G I/-C’ ) —d /

Answers 10x + 4 C/ (7 ) 33/ 'F 8;@?{’“ . /
B. The domain is {x| x is any real number cd/(g) / Y 7 - \‘\ [//L//

-4x+10 o C (2
B. The domain is {x| x is any real numbe&QJ
3)(+ /

21x° + 40x - 21 )’)(
B. The domain is {x| X is any real number}. ( ) a Z( 3
3X+7 g(l/ f 7

" -_ (”’)( 700 -3

(1
(h) Find [g]m).

3

A. The domain is {x| x# 2

(Use integers or fractions for any numbers in the expression. Use a comma to separate answers as needed.)

: Glo=
143 ‘ i /U

N | o
G
>

T

=

_|D:1i.6_7 } S 6(/)((/’: ":E__jj
"
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4. For the given functions f and g, complete parts (a)-(h). For parts (a)-(d), also find the domain,

"y ey
f(x) =x-5; g(x)=7x2 (/f*f‘;}/[)(/
ind (f+ "r’/d"(' j‘:") -

(a) Find (f+ g)(x). . ) F (//? ) 2 \J)MC MJ
(f+g)0) = (Simplify your answer ))( _—— v < ﬁ ,?/’

What is the domain of f + g? Select the correct choice below and, if necessary, fi fII in the answer 90)( to complete your

choice. /)(t 7"’,(""' = —~— t/.,

A. The domain is {x }
(Use integers or fractions for any numbers in the expressmn Use a comma to separate

answers as needed.)
( £ 541

).{'(;{) — (/‘)

(5 )= (% ”

) B. The domain is {x| x is any real number}.
(b) Find (f - g)(x).

f-g)(x)= (Simplify your answer.)

choice. (f"f ___7 )( L,_f/ J//g =

-

) A The domain is {x - _}.
(Use integers or fractions for any numbers in the expressmn Use a comma to separate el A
answers as needed.) ( e \ C
- ~ |
B. The domain is {x| x is any real number}. ‘?_ m ,'

9,

(©) Find (f~ g)(x). f ) /(/ N -
’(/,_5)(// ) _.__/ X Q //

(feg)x)= (Simplify your answer.)

ol e e
What is the domain of f» g? Select the correct choice if necessa[y fillin-the-answer box to complete your choice.

A. The domain is {x - } ( f )/’(/ " 7{ = W
(Use integers or fractions for any numbers in the expresszon Use a comma to separate

answers as needed.) 7{ [ ‘

)
| /L/ 1 = vo
~—Jome (NF

f
What is the domain of E? Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

A. The domain is {x } <%/;L 9/&4/ - 7/( Lf)/"’>/

(Use integers or fractions for any numbers in the expression. Use a comma to separale

answers as needed.) (M {)(3/ 7( 3/) T (}//j >

B. The domain is {x| x is any real number}.

B. The domain is {x| X is any real number}.

(d) Find [é—] (x).

f
[E] (x) = (Simplify your answer.)

(e) Find (f+ g)(3).

3 L2 " el
4 of 30 . k\___(:_fi_}(}/ __&(f .
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(f+9)(3)= (Type an integer or a simplified fraction.) ( / 7j>4 < ‘7)( ‘l‘/ ¥
(f) Find (f- g)(4). ( —-}/ ((f/" "7/9) —f/'}‘/ ~5
(f-9)@4)= (Type an integer or a simplified fraction. )/ -9 v, /«.() = -7(<( ) f¥) € C‘/” i
-5
(9) Find (f+g)(2). ( 5 )() ~7(76) (% |
(f-9)(2)= (Type an integer or a simplified fraction.) (, —'/) ( (" ) ’J/Z L < Z._" J
B \\}v"
[ ( —-*/)/C(/ =13
(h) Find [5](2). \k =

(/ ) - X 2.3,x b )
Bl By e
2 /)/z) 7(2)=35(%
Answers 7x° +x -5 - /" 5 () - /(2 /}/Z)FL) —3 1/2) /Q)
B. The domain is {x[ x is any real number}.
ot 7/(0 7(5) —36(%)
B. The domain is{x|xis any real number}. / /// (() C’ ___/VV =
73 - 35%2 (/ 7)(Z/ - D7§/ W

B. The domain is {x| x is any real num%e*}. =i
x=5 }){ =

2 ( ] =
A. The domain is {xl xX¥0 }'

(Use integers or fractions for any numbers in the axpressmn Use a comma to separate answers as needed.)
61 o | # - (2] 3
g3 / / Z) = =
-113 C 7/ 2t
-84

J 2’ =
— =R \\/ _
ID; 1.1.69 &C/)(Z/ 't e

f
[5] 2)= (Type an integer or a simplified fraction.)

: f(x + h) f(x)
Find the difference quotient of f; that i IS find ———, h#0, for the following function. Be sure to simplify.

W :mawd (X t=grry ).
f(x + h) = f(x)

N GLVIETY -z/ Sh Aty —X TIX L=
Answer: 2x +h - gx_‘f{/’(’z‘_f/;/({_{,}‘l hc’/k?/} ,f_\r _)/ ’f“‘)/ a

f(x) = x% — 9x + 4

9 4
ID: 1.1.83 .-'/_’(— Lo 4 TL‘ "Tf-?’/, —5% 4 — "‘/ "X' "/ //-Y =

é/A—rf//*%ﬂ
50f 30 /7 )
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6. Given f(x) = x2 = 2x + 4, find the value(s) for x such that f(x) = 28.

The solution set is { }

Answer. -4,6 p
ID: 1.1.91 (éﬁ@ ,\_ e

YEixX Yy = ¢8 /Z

)(2—-2)(7'-(/ — 28 =2 ;‘f\

,{/1"'(,{'/-2/%';()
()( 1? @ — G)EL;‘_: .
Yy =0 9% R B
oo i gy O K0

Qi?\l o @ M Uusz Cg \M[;/V'; i /e ;4.,,4‘_‘4’;
—’:7’_/,_&’_\,/_-‘-—:_—; - ; o
= [xl—2K —t¥E°2 o

=an - e T

V= —b /=7 ¢
<X - ,Q_JZJ_ )
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Z¢ —
(YT IO

2!
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T
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7.
Determine whether the graph is that of a function by using

the vertical-line test. If it is, use the graph to find

(a) its domain and range.

(b) the intercepts, if any.

(c) any symmetry with respect to the x-axis, y-axis, or the
origin. Il

Is the graph that of a function?
o Yes
) No

If the graph is that of a function, what are the domain and range of the function? Select the correct choice below and fill in
any answer boxes within your cholce(f«l't’ Yish+ ) ¥ ( Ly ,/,f‘.'-»,) 70 P (

-~

ETA. Thé\domam is ( o = ) Thérange is ("O?HGM]
(Type your answers in mterval notation.)

B. The graph is not a function.

What are the(n Qercepts? Select the-correct choice below and fill in any ﬂnswer t?exes within your choice.

xin g
(0 6 ) A—mwent(F.9) (7,0)« -(~witteapf
(Type an ordered pair. Use a comma to separate answers as needed.)
B. There are no intercepts.

C. The graph is not a function.
Determine if the graph is symmetrical.

Co

e ——— A

It is symmetrical with respect to the y-axis.

It is symmetrical with respect to the origin.
It is symmetrical with respect to the x-axis.

The graph is not symmetrical.

mo o>

The graph is not a function.

Answers Yes

A. The domain is (—o0,00) .Therangeis (= 00,6] .(Type your answers in interval notation.)

A. (9,0),(—9,0),(0,6) (Type an ordered pair. Use a comma to separate answers as needed.)

A. Itis symmetrical with respect to the y-axis.

ID: 1.2.21

7 of 30 9/23/2019, 10:09 AM
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8. Using the given graph of the function f, find the following.

(a) the intercepts, if any

(b) its domain and range

(c) the intervals on which it is increasing, decreasing, or constant
(d) whether itis even, odd, or neither

-~ i’ ‘Lf(@t//} i1l bers nk
(a) What are thémiezr:_ep_ts_u- 7(\-"

) Kl on
=i,8) (o) (Y1)
(Simplify your answer. Type an ordered pair. Use a comma to separate answers as needed.)
(b) The@omaiiis [~ 3 € 0?’45 ryhel
(Type your answer in interval notation.) ,/' 7
. N 7 O
I 2 ~ s 10 ] ’/-‘ Y 5 /K

The@ngef‘is [ ) 3] = [ < 2

el - il N, o
(Type your answer in interval notation.)

(c) On which interval(s) is the graph increasing? Select the correct choice below and fill in any answer boxes within your

choice.
— ~1o( L1, 3
A. The graph is%;rggging on [ // c . /
(Type your answer in interval notation. Use a comma to separate answers as needed.)
B. The graph is not increasing on any interval.

On which interval(s) is the graph decreasing? Select the correct choice below and fill in any answer boxes within your
choice.

ey '_ — 1 (9] ’
A. The graph is(d\ecrea_&in’g on E'- ;/ / ( ( 4 j
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not decreasing on any interval.

On which interval(s) is the graph constant? Select the correct choice below and fill in any answer boxes within your choice.

A. The graph is constant on ;
(Type your answer in interval notation. gse a comma to separate answers as heeded.)

tB. The graph is not constant on any interval.

(d) The function is (1)

(1) odd.
neither odd nor even.
_—t0~even.

& —

9/23/2019, 10:09 AM
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Answers (- 1,0),(1,0),(0,1)
[-33]
[0,3]

A. The graph is increasingon [=1,0],[1,3] .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

A. The graph is decreasing on [-3,-1],[0,1] .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not constant on any interval.

(1) even.

ID: 1.3.25
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9. The function f is defined as follows.

-3x+4 ifx<1
f(x) =
3x-2 ifx=1

(a) Find the domain of the function.

(b) Locate any intercepts.

(c) Graph the function.

(d) Based on the graph, find the range.

(a) The dom:_ain;of the function f is ( - (X7 )& (/:’Lf. reyhe )
(Type your answer in interval notation.)
(b) Locate any intercepts. Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

A. The@rcgpt(s) is/are (O) 4/’) .
(Type an ordered pair. Use a comma to separate answers as needed.)

() B. There are no intercepts.

(c) Choose the correct graph below.
= T -

7 ~,

VA, ~. OB. c. D.
" I y
1 L'LJH \;_ I ‘(
{w.) (_hl\"'x |] \ X \ x
rrerrirrre— . / e T e e
10 10 , -10 I 10 -10 I 10
-

/l -1

Ty L. = - . k_)/ )
(d) Thé range of the function fis | { f?C‘) & [ L{: HJM} <
(Typetgaﬁraf:wer in interval notation.)

Answers (- 00,00)

A. The intercept(s) is/are (0,4) . L ’
_— s
(Type an ordered pair. Use a comma to separate answers as ne,e,ﬁed.)

X X</

1< Xz
‘.-))I.
A.
[1,00)
ID: 1.4.33
T ——
_ i _ l,t’f/(.ff C //(f';/,;@!
e 1)
L_N‘D Wu” 2 !
ey ) C/”J ’ '
)( /I Circ L/r'
10 ¢f 30 — — 9/23/2019, 10:09 AM
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10. The graph of a function f is illustrated to the right. Use the graph of f as the first step
toward graphing each of the following functions.

(a) F(x) =f(x) + 4 (b) G(x) =f(x +5) (c) Px)= - 1(x)

1
(d) Hx) =f(x +1)- 3 (e) Q(x) = =f(x) (f) g(x) =f(-x)
2

(9) h(x) =f(2x)

(a) Choose the correct graph of F(x) = f(x) + 4 below.

/vé e

rrrrrreltT T

8 2 B

1
(e) Choose the correct graph of Q(x) = -Z-f(x) below.

11 of 30 9/23/2019, 10:09 AM
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Answers
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ID: 1.5.63
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11.
(a) Graph f(x) = [x + 3| - 4 using transformations.
(b) Find the area of the region bounded by f and the x-axis
that lies below the x-axis.

(a) Graph f(x).
(Use the graphing tool provided to graph the function.)

(b) The area of the region bounded by f and the x-axis that
lies below the x-axis is square units.
(Simplify your answer.)

Answers Ay
10

«

https://xlitemprod.pearsoncmg.com/api/v 1/print/math
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ID: 1.5.81
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Yy
12. Find the'zeros bf the quadratic function using the ‘square root method What are the x-intercepts of the graph of the
function? o | )( 2

g0 =(x-1)%-25 b?#~n)l "tbﬁi;’

Select the correct choice below and fill in the answer box to complete your choice.
(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to
separate answers as needed.) / xf = + ¢

The zeros and the x-intercepts are different. The zeros are , the x-intercepts

A are X—| =% o A= g

B. The zeros and the x-intercepts are the same. They are

P s/ ,{L = ([~

Answer: B. The zeros and the x-intercepts are the same. They are 6,-4
-~ ~ S—
== of¥=zé O
ID: 2.3.29 ~—————
—— __—__——____=___ . e — = —— .

13. Find thé zeros t)f any, of the{qUadratlc functlon usmg the c(yadratlc formula. What are the x~1nt?rcepts if any, of the graph
of the function? ¢
V4 fw /)
2 #x| ix—hwx+9 JV
f(x) = 8x~ + 9 + 20x
a=5

Select the correct choice below and, if necessary, fill in the answer K( to complete your choice.
(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to
separate answers as needed.)

A. The zeros and the x-intercepts are the same. They are "

The zeros and the x-intercepts are different. The zeros are\ , the x-intercepts

B. : t
are . |

C. There is no real zero solution and no x-intercept. |
|
b/

J-5+¢7 -5-47 |/
Answer: A. The zeros and the x-intercepts are the same. They are " 2 y 2 . f

(X==btfg? ~rac ™ |

ID:2.3.47 Z G - | r'

X~ - ( 20 ) : Zu) ~ 1R (c« / L /
2(0)
X -~ =0 tyYgoo — 25
/€
y= otz
/6

15 of 30 9/23/2019, 10:09 AM
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7y

(14

/For the quadratic function f(x) = X% = dx - 12, answer parts (a)

!
v
through (c).
(a) Graph the quadratic function by determining whether its

graph opens up or down and by finding its vertex, axis of
symmetry, y-intercept, and x-intercepts, if any.

Does the graph of f open up or down?

up
down

What are the coordinates of the vertex?

The vertex of the parabola is 5

(Type an ordered pair. Use integers or fractions for any
numbers in the expression.)

What is the equation of the axis of symmetry?

The axis of symmetry is
(Type an equation.)

What is/are the x-intercept(s)? Select the correct choice below
and, if necessary, fill in the answer box to complete your
choice.

A. The x-intercept(s) is/are

(Type an integer or a decimal. Use a
comma to separate answers as
needed.)

B. There are no x-intercepts.

What is the y-intercept? Select the correct choice below and, if
necessary, fill in the answer box to complete your choice.

A. The y-intercept is
(Type an integer or a decimal.)

B. There is no y-intercept.

Use the graphing tool to graph the function.

(b) Determine the domain and the range of the function.

The domain of f is .
(Type your answer in interval notation.)

The range of fis :
(Type your answer in interval notation.)

(c) Determine where the function is increasing and where it is
decreasing.

The function is increasing on the interval
(Type your answer in interval notation.)

17 of 30
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Answers up
(2,-16)
x=2

A. The x-intercept(s) is/are 6,—-2
(Type an integer or a decimal. Use a comma to separate answers as needed.)

A. The y-intercept is | =12 .(Type an integer or a decimal.) e

Xalvagt (40)

20 16 42 8 4\ 4

(0)‘”3:2-

/M\mmw
(= 00,00)
[~ 16.00)
12,00) . iv\ozum/
(= 00,2
)(/mm -
ID: 2.4.37
sl = i
=5 }/Vl e - //

,-}’hﬂ)/ C /O

o

.-
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For the quadratic function f(x) = — 2x2 +2x -1, answer parts
(a) through (c). Verify the results using a graphing utility.

(a) Graph the quadratic function by determining whether its
graph opens up or down and by finding its vertex, axis of
symmetry, y-intercept, and x-intercepts, if any.

The graph of f opens (1)

The vertex of fis
(Type an ordered pair.)

The axis of symmetry is
(Type an equation. Simplify your answer)

Determine the y-intercept. Select the correct choice below
and, if necessary, fill in the answer box to complete your
choice.

O A. The y-intercept is
(Type an integer or a decimal.}

(0 B. There is no y-intercept.
Determine the x-intercept(s). Select the correct choice

below and, if necessary, fill in the answer box to complete
your choice.

() A. The x-intercept(s) is/are

(Type an integer or a decimal rounded
to two decimal places as needed. Use a
comma to separate answers as
needed.)

() B. Thereis no x-intercept.

Use the graphing tool to graph the function.

(b) Determine the domain and the range of the function.

The domain of f is
(Type your answer in interval notation.)

The range of f is
(Type your answer in interval notation.)

(c) Determine where the function is increasing and where it
is decreasing.

The function is increasing on the interval
(Type your answer in interval notation.)

The function is decreasing on the interval
(Type your answer in interval notation.)

https://xlitemprod.pearsoncmg.com/api/v1/print/math
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(1) O up.
) down.

Answers (1) down.
1 1
2'7 2

1
X=32

B. There is no x-intercept.

A. The y-intercept is -1 '.(Type an integer or a decimal.)

https://xlitemprod.pearsoncmg.com/api/v1/print/math
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T,

16. Determine, thout graphlng whether thefwen quadratlc function has a@‘la}ﬂmum vaiue or a minimum value and then find
the value. *-'“9’,, cph  Yoes Mg —5F g $—6 V7. <

f(x)=f/2x ] /MX’K il 'J’ J( _‘)Yé(?() // (1))

2l
AFL o Bl g C == TS—=—=— J
Does the quat’:lrattc functton/f have a minimum value or a maX|mum value7 - ( —lL (,,-/( )

(' The function f has a minimum value. {“/f%’/[/?( (‘_ / ‘/
5 (%),

) The function f has a maximum value. V7,

1y _
What is this minimum or maximum val (5 - Z ( 3) N /Z ( 5) = )
=(3, ~e(s)( 726/~
(Simplify your answer.) K/Léy?\ = (5 —) ( 9 ) -1 (1 (5 /—
Answers The function f has a mla;m%:.lr’r:value'.- 3 = / X =T } ‘ - /

N | Ve ‘”’* (’3; /5’-~-/')
ID: 2.4.59 .\/”/r’(é"- (3 /7) _/?7/6? X

TN FZOSSChl

17. Use the{%ﬂqnjj_zu;s heorem to find all the real Zeros of the polynomial function. Use the zeros to factor f over the real
numbers. /7] < [ X 2y S~{ 1/ b T e AT TS
-~ R el 2. LaE K\// T / )
X) =X - X% —17x - = _ : 7Y mr

Fy f=j [ v =I5 (O - —

__Find the real zeros of f.-Select the corréct choice below and, if necessary, fill in the answer box to complete your answer.
‘3{5( /f//'{m((( d(vt)uw, -,,' )(éﬂ*"és(f—-—lj‘ ~ /(ri Z:f T’/

—g e A K= — .
,3: /
(Simplify your answer. Type an exact answer, using radicals as needed. Use integers or 17 o
fractrons for any rational numbers in the expression. Use a comma to separate answers as ' ° o+ $ I e Al

(Gt 5280w, (K +3) ((-5/ o 3T
s = There are no real Zeros. — — ——

oot ) f(( 5- 0 Q)& /'(’F 2 +(0 t§ g/ | ‘)
Use the real zeros to factor f. )( ) =3 _“:’_ S{’w 5 O)A /,5;/ 5o (771_—/%& A
o PN RS %

(Simplify your answer. Type youranswer in factored form. Type an exact-answer;-using radicals as needed. Use integers

or fractions for any rational numbers in the expression.)

Answers A.x= =3, -1,5
(Simplify your answer. Type an exact answer, using radicals as needed. Use integers or fractions for any
rational numbers in the expression. Use a comma to separate answers as needed.)

(x+ 1)(x + 3)(x - 5) — G Sy

2, )

ID: 3.2.45

e e e e —
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-

18. Find the vertical (horrzontal aqd obllque asymptotes if any, for the following rational functlon
z‘;}

16x - PR
R(X) = \ ! H’”,.-/

X+4 ———

Select the correct choice below and fill in any answer boxes within your choice.

A. The vertical asymptote(s) is/are x =
(Use a comma to separate answers as needed.)

B. There is no vertical asymptote.

Select the correct choice below and fill in any answer boxes within your choice,

A. The horizontal asymptote(s) is/are y =
(Use a comma to separate answers as needed.)

) B. There is no horizontal asymptote.

Select the correct choice below and fill in any answer boxes within your choice.

A. The oblique asymptote(s) is/are y =
(Use a comma to separate answers as needed.)

) B. There is no oblique asymptote.

Answers A. The vertical asymptote(s) is/are x = -4 .(Use a comma to separate answers as needed.)
A. The horizontal asymptote(s) is/are y = 16 .(Use a comma to separate answers as needed.)

B. There i is no obllque asymplote
ID: 3.4.45(_'_‘ﬁ'}“ | S—
A% Kot e

S e

= e _ Ty - e
o =0 ~ A~ S e 0 N
+ &Y -

— % 4'“ Lbay (s %o |

/.. s - | -.____{4;"’ J)
('( X/ﬁ// / £i ““\\f. /k'( a 5/ k—}&fvl( //

-

~
™

b = T o 1’0” i
' GAC viv
/6% —— M‘ x /})Sf /‘,- s ))a/f,f")

\ - < < ) 53 - e d’-’—"
- j = / T 44 ¢ vy Ao fod / ™
J 7 u B p 7 A Y s 3 :
2oM0 £ " 7 N (-(,5/ :// {,_f—-*“ ___on 9/23/2019, 10:09 AM
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19. Forf(x) =2x+ 4 and g(x) = 9x, find the following composite functions and state the domain of each.

23 of 30

(@) fog (b) gof (c) fof (d) gog
(@) fog)(x) = (Simplify your answer.)

Select the correct choice below and fill in any answer boxes within your choice.

() A. The domain of fo g is o }.
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

{0 B. The domain of fo g is all real numbers.
(b) (g o f(x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

(0 A. The domain of g o fis {x | }
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

() B. The domain of g o fis all real numbers.
(c) (fof)(x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

(O A. The domain of fo fis {x |ﬁ - WHW}.
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

(} B. The domain of f o fis all real numbers.
(d)(gog)(x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

€. A. The domain ofgogis {x | 2
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

() B. The domain of g o g is all real numbers.

Answers 18x +4
B. The domain of f o g is all real numbers.
18x + 36
B. The domain of g o fis all real numbers.
4x+12
B. The domain of f o f is all real numbers.
81x

B. The domain of g o g is all real numbers.
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.ﬂ-"-‘-_'__.-._'—__-‘-_-‘-__‘-‘-\-__

ID: 4423 / e,
@ é/ Xty ot j(z() "'Lx

(Fo 9 -
A1 5)-

//(/)() Jrh
z(%( ~+ Y - C’y
Q/Yxﬂfve

/%(Zi(r—r?‘)m( 5(x) = 577(
C)[” (jdf)x/-

3 f) -
G ((exe )= =

e domes N

/
/
»-x\—/
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3)0:,/'
_~The function f(x) = 3x + 1 is one-to-one. A
(a) Find the inverse of f and check the answer. 20
(b) Find the domain and the range of f and f~ 1 a]

(c) Graph f, {1

, and y = x on the same coordinate axes.

-1 8-

@f (x= :

(Simplify your answer. Use integers or fractions for any 4

numbers in the expression.) ] X

, , , _ 0 -6 12 8 -4 ] 4 8 12 16 20

(b) Find the domain of . Select the correct choice below and, if 4]

necessary, fill in the answer box to complete your choice. i

-8

The domain is {x|x 2 }. 124

The domain is {x|x < >. 157

The domain is {x|x #

ENS— . }' .gc.,-.

The domain is the set of all real

numbers / = /
| fix) = 5 %1 gy =
Find the range of f. Select the correct choice below and, if

necessary, fill in the answer box to complete your choice. A y : 3 xf /

O 0w »

f
\

The range is {y|y < }

The range is {y[y;ﬁ }. X: 3%’ 7/‘ / : e . P -

N "M"J
The range is {y|y > }. )( i / 5 7 — /{(//// \\h/“} .

The range is the set of all real numbers.

O 0w »

-_ i . \

Find the domain of f 1. Select the correct choice below and, if )( —, / - 3 j |
necessary, fill in the answer box to complete your choice.

: ~L.] \

The domain is {x|xs } P')’/g’_’_f' : ,

Thedomainis {x[x= ~ }. }
The domain is {x|x# } (

©O 0 ® »

The domain is the set of all real
numbers.

[ = ] \ / |
% "y |
Find the range of f 1. Select the correct choice below and, if T _ )( ( ‘\
necessary, fill in the answer box to complete your choice: (/ \7 “ e } -

A. The rangeis {yly# ) IS - =% u'//) (/77 S
I K

B. Therangeis {yly < } /

C. Therangeis {y|y2 }

D. The range is the set of all real numbers.

(c) Graph f, f~ 1 , and y = x on the same coordinate ax
the graphing tool to graph the functions.

ki -,J,_ﬂ’__/__‘ — -
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/.
x=1 Wia L/Utu
Answers - —~f2
)( ~ ] e
D. The domain is the set of all real numbers. v'/./ )( /’f’? e & / (o
D. The range is the set of all real numbers. N ] i NN e

D. The domain is the set of all real numbgrs:

- — VM X :’/O

n__I_D: 4.2.53 S -
e ’1 3. A
21. Solve the equation. ( (2 )
8—x+21=16x KTGJ _ Y

7
= y¢wr/
The solution set is { |}};-

(Type an integer or a simplified fraction. Use a comma to separate answers as needed.)

3 KA (3 = X
'_5)/(/'7’76"?; = (,/j:“—- '?‘ /L—é' 5
ID: 4.3.73 _3)(~*‘%/f6)’
=34 —¥ X =YL —G 3T

——7/\/ —6 4

=75

Answer: 9

B
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(S‘st)‘“k/

22. Solve the equation.
log ,(4x+3)=4 . 4&
| N . : 9._ (/ / 3 rf ""rf
Change the given logarithmic equation to exponential form. 72 -7
(Type an equation. Do not simplify.) :72 ’ ’Z ' 2 ' Z
The solution set is { } / C (,L X-f ; .
(Simplify your answer. Use a comma to separate answers as needed/c —73 = ((& )(.f' 5 "“)
Answers gy 4 3= 24 /3 = A
13 -
T L2 =
< L2 = ™
B ID: 4.4.91-Setup_& Solve_ o 117f £
23. Solve the logarithmic equation. /_J;r) LU 6()6( }) / ZU j(_z)_( (x// /_Z - 3/ '-"_f
log x+ log (x-3)=1 )
D h be solved aft u:t X(’{— CU(Z)T(‘/)[—))'/
etermine the equation to be solved after removirig the logarithm. /ﬂ4
i D
A S P D
———————— . TS § 8 4 ﬁ
(Type an equation. Do not simplify.) 0 - )( —3)(,/ N L‘_L ‘-”5 (Sﬁ) 7"(45
Select the correct choice below and, if necessary, fill in the answer box to complete yo LT' choice,
- { 0 - (X +1)Q<ﬂr3} Cog (5)-r4uy (2=
! The solution set is
= < = O
(Simplify your answer. Type an exact answer. Use a comn)'g to sepa?ate answ’ers as (’7 p (/( C oV c/
needed.) /(—"Z é_,Q—L y\ )(,>_(>ﬁ N
) B. Thereisno solution. " \ U /#"* '
=Ly ORX= S
C F==> ( _
Answers x{(x - 3)=10 < /7 € (_ /
A. The solution set is 4 5 }» #.,/
(Simplify your answer. Type an exact answer. Use a comma to separate answers as needed.)
d/ /H’sz—\ [UJ(A / D‘ /C/}/d/
ID: 4.6.17-Setup & Solve c/ <5 M /3/ = - e B
= o R—
;f ,},»v/"bgv /07_7(/?_ \
24 Find the amo tthat resulté from the glven mvestmew T / N E \
& “« 2/ LN = 2
$70 /pnvest d at 4:@mmpoundtquarterly aftera peno f 3years =YY= L0y
< 0% - )
Aﬂer 3 years, the investment results in $ /] 7(A} ("f .-;_-{"‘ _é = GIE f(q,,, \|

28 of 30 3

(Round to the nearest cent as needed.) (1

(
Answer: 788.78 ?’l 7U\j [/'f ! ,_,"'j

ID: 4.7.7
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25. How many years will it take for an initial investmept of $20,000. to gro 6‘?0 0007 Assume a rate of |n1eres@3‘ )
compounded continuously. T 0000 T O GO ,C> «0% & —"“)j /) / G g
W S) = 07 €

It will take about years for the investment to grow, t6 $70 000 (3 S/ — .05 (/// -/ ’ﬂwf,\ _
(Round to two decimal places as needed.) 7 é Ve C/ ,)

70000 _ Zvouw &/ /} f) 27 € ({7 (A'*-"f i
Answer: 13.92 2= s - / L ey

o5 i,
25=C '(“éo.; 73. ‘i/?rfi’fy~—‘ @)=

DA a(3.6) = Mol T C[FGE =€ RovA]

26. Solve the system of equations. If the system has no solution, say that it is inconsistent.
3x -2y=10
5x +y =21

Select the correct choice below and, if necessary, fill in any answer boxes within your choice.

() A. The solution of the system is x = andy=
(Type an integers or simplified fractions.)

() B. There are infinitely many solutions. Using ordered pairs, the solution can be written as
{(x Wix=_ ,yanyreal number}
(Simplify your answer. Type an expression using y as the variable as needed.)

(3 €. The system is inconsistent.

Answer: A. The solution of the system is x = 4 andy= 1
(Type an integers or simplified fractions.) >

SV\ ./}f/
- ID: 6.1.33 | /f%t-(/f* 3 *27 = s -

3K~y v/j/) / e 05 <10

(2—2Cy Z/2

—__9723/2019, 10:09 AM
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27. Solve the given system of equations. If the system has no solution, say that it is inconsistent.

X=-2y+3z= 5

/".' & | ‘m'.
2x+ y+ z=-5 P @\ \

. C_
-3x+2y-2z= 0 [,' AN
. A LN 1)
Select the correct choice below and fill in any answer boxes within your choice. l\ / / ( 1 L
)
A. The solution is x = y= ,andz= (Type C/ c ' C -

integers or simplified fractions.)

B. There are infinitely many solutions. Using ordered triplets, they can be expressad as
{xy.2) | x= ,y=_,zanyreal number}.

(Simplify your answers. Type expressnons usmg 'z as the variable as needed. ) e

C. There are infinitely many solutions. Using ordered triplets, they can be expressed as
{(x Y.Z) | x= ,yanyreal number, z any real number} '
(Simplify your answer. Type an expression using y and z as the variables as needed ) —

D. The system is inconsistent.

Answer: A.
The solution is x = -2 VY= ,andz= 1 . (Type integers or simplified
fractions.)
; L =
2wl Ptrix (J,/ //J ;{ ' il
ID: 6.1.45 / frpuil /

/=2 zs
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